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Chapter 3 Assignments in section 3.1
1. What is the meaning of logical communication ?

2. The network layer protocol IP is reliable ? Yes or No ?

3. Congratulations. You have succeeded with the chapter 3.1 (
IDENTIFICATION: Chapter3/MC

Chapter 3 Assignments in section 3.2
4. Multiplexing vs. demultiplexing. Explain ! 
5. How is a a UDP segment identified ? State the tuple fields.
6. How is a TCP segment identified ? State the tuple fields.

7. Why are there more values needed in TCP than in UDP ?
8. Congratulations. You have succeeded with the chapter 3.2 (
Chapter 3 Assignments in section 3.3
9.  What is the maximum number of data bytes in a segment sent using UDP ?
10. Checksum:

What is it ?

What is it used for ?

How is it done ?

Why have it in UDP, in TCP ?
11. Congratulations. You have succeeded with the chapter 3.3 (
Chapter 3 Assignments in section 3.4
12. RDT stands for what ?

13. State the two requirements to a RDT service.
14. Explain the word pipelining. 

15. Go Back-N protocol is a pipelined, error free protocol. Explain the key words.

16. Take a look at a GoBack-N-ACK-based, NACK-free protocol.

Explain the sliding window technique.

Explain how cumulative acknowledgements are used.

17. Congratulations. You have succeeded with the chapter 3.4 (
Chapter 3 Assignments in section 3.5
18. State the content of a TCP-connection.

19. What is MSS and how is it calculated. 

20.  How are sequence numbers numbered ?

21. Look at the TCP-Segment structure on Fig. 3.29 p. 269 (7th ed)
Explain
Acknowledgement number


Urgent data pointer


Options


And two fields of your own choice.

22. Round-Trip-Time estimation is based estimation and deviation. How ? 

23. Look at the formula on p. 237 and p.238.

Start with the following values 

alfa = 1/8

estimatedRTT = 160 millisec

sampleRTT = 200 millisec

Calculate new estimatedRTT

Then use the following values


beta = ¼


devRTT = 20 millisec

and calculate the new devRTT.

Finally calculate the timeoutInterval.

24. If there is a timeout what happens to timeout interval ?

25. What is fast retransmit ?

26. Why use 3 duplicate ACK and not just one ?

27. Explain the TCP flow control.

Go to http://wps.pearsoned.com/ecs_kurose_compnetw_6/  run the applets in Chapter 3

Explain what happened!

Chapter 3 Assignments in section 3.7
28. Why is congestion control needed?

Go to http://wps.pearsoned.com/ecs_kurose_compnetw_6/  run the exercise in Chapter 3

Explain what happened!

29. Take a careful look at figure 3.51 p. 302 and figure b3.52 p. 307 (7th ed)
Now explain the TCP congestion control.
30. Congratulations. You have succeeded with the chapter 3.7 (
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